



Tabulation of Bids

Letting: 04250404 April 04, 2025

Call Order: 004

Contract: E4X79

District: District 4

Counties: DIST/ST-WIDE

Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 45057847201 (*)

Contract Descr: DISTRICTWIDE TRAFFIC SIGNAL MAST ARM COATING-METALIZING

The work under this Contract consists of coating existing structural steel on Traffic Signal Mast Arms (TSMA) using paint and metalizing systems. This contract is work document driven and each work document will consist of recoating at least one entire TSMA per intersection but may include more than one TSMA at a given intersection.

MAXIMUM LIMITING FUNDING TERM 7: This contract has a budgetary ceiling of \$900,000.00. Currently only \$500,000.00 of the \$ 900,000.00 is available. Additional funds will be brought on by Letters of Authorization/Task Work Order (Funding Term 7). The total of all work documents is limited to the budgetary ceiling over the 730 contract calendar days unless amended by Supplemental Agreement.

The award amount and contract performance bond shall be based on the maximum limited amount of budgeted amount of \$900,000.00 and not the contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2024-25 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC		(2) AUM CONSTRUCTION INC.		(3) SOUTHERN ROAD & BRIDGE, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH								
0005 0102 14 TRAFFIC CONTROL OFFICER		500.000 HR	25.00000	12,500.00	80.00000	40,000.00	95.00000	47,500.00
0010 0102 60 WORK ZONE SIGN		500.000 ED	0.01000	5.00	1.00000	500.00	1.00000	500.00
0015 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		10,000.000 ED	0.01000	100.00	1.00000	10,000.00	1.00000	10,000.00
0020 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL		600.000 ED	0.01000	6.00	25.00000	15,000.00	10.00000	6,000.00



Tabulation of Bids

Letting: 04250404 April 04, 2025

Call Order: 004

Contract: E4X79

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC		(2) AUM CONSTRUCTION INC.		(3) SOUTHERN ROAD & BRIDGE, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH								
0025 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		300.000 ED	0.01000	3.00	35.00000	10,500.00	1.00000	300.00
0030 0102115 TYPE III BARRICADE		1,000.000 ED	0.01000	10.00	1.00000	1,000.00	1.00000	1,000.00
0035 0561 2 COATING EXISTING STRUCTURAL STEEL		8,448.000 SF	116.00000	979,968.00	140.00000	1,182,720.00	144.00000	1,216,512.00
0001 TRAFFIC CONTROL DEVICES CONTROL (MH Section Totals:				\$992,592.00		\$1,259,720.00		\$1,281,812.00
Contract Grand Totals:				\$992,592.00		\$1,259,720.00		1,281,812.00



Tabulation of Bids

Letting: 04250404 April 04, 2025

Call Order: 004

Contract: E4X79

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) TITAN CONSTRUCTION MANAGEMENT L					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH								
0005 0102 14 TRAFFIC CONTROL OFFICER		500.000 HR	90.00000	45,000.00				
0010 0102 60 WORK ZONE SIGN		500.000 ED	1.00000	500.00				
0015 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		10,000.000 ED	0.50000	5,000.00				
0020 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL		600.000 ED	1.00000	600.00				
0025 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		300.000 ED	20.00000	6,000.00				
0030 0102115 TYPE III BARRICADE		1,000.000 ED	0.50000	500.00				
0035 0561 2 COATING EXISTING STRUCTURAL STEEL		8,448.000 SF	170.50000	1,440,384.00				
0001 TRAFFIC CONTROL Section Totals: DEVICES CONTROL (MH)				\$1,497,984.00				



Tabulation of Bids

Letting: 04250404 April 04, 2025

Call Order: 004

Contract: E4X79

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) TITAN CONSTRUCTION MANAGEMENT L					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$1,497,984.00				



Tabulation of Bids

Letting: 04250404 April 04, 2025 **Call Order:** 004 **Contract:** E4X79

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.